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[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and the

Answer Sheet before commencement of the test.

2. The duration of the test is X Hour. There are 15 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains X Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked on
the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding to
(A), (B), (C) or (D) against the relevant question number.
Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use your
best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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PART-I
(Questions 1 — 05)

. World War | and World War Il took place the 20™ century.
A.on B.in
C. at D.into

. At 3maf 7 qReT HISI HIF-TT UT? / Which was the staple food of the Vedic Aryan?
A. STt 3R T1ad / Barley and rice B.gY G?ITBE% 3dl& / Milk and its products
C. I1ad 3R ETdl / Rice and pulses D. Gfeal 3R W / Vegetables and fruits

. T X ORI R S.I. TR 25 T8 § B8 AR 30 F IR T[T & ST /

The rate at which a sum becomes four times of itself in 25 years at S.I will be:
A. 30% B. 25%
C.12% D. 49%

. U goat 157 URt H 97 T F14T 8 3R 39 UPR ST 319 5 d §¢ Sdi g1 157 uRt
& F1G I 3d F1d BT | / A batsman makes a score of 97 runs in 15% inning and
thus increases his average by 5. Find his average after 15" inning.

A 15 B. 82
C.27 D. 92
. DT Yeg, &méawqﬁ%? / Which word does NOT belong to others?
A. 39 / Inch B. fdum / Kilogram
C. dHR / Centimeter D.gTe / Yard
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PART-II
(Questions 6 — 15)

6. 1. fhe &1 UfaR Taex gamm BT 81/ The power factor of a D.C circuit is always

A. SIS/ leading B. qﬁ-c‘?/ unity
C. affr/ lagging D. SIRT / zero

\l

. WS 3REATH = /SineWaveRMS = .
A. Ut dleesl/5 &l ?F'ﬁi[ﬂ/ peak voltage/square root of 5
B. Ul dlecvl/6 &l ?F'fﬁlﬁ / peak voltage/square root of 6
C. Ui diecsl/2 &l HTTHFT / peak voltage/square root of 2
D. Yie diecsl/3 FI GTTHFT / peak voltage/square root of 3

. Ife U TR &I DC Fid & FHMIGR QT SY o 1 T2 /

What happens if a capacitor placed in Parallel with a DC source?

A. I8 dieedl ®I 9grdl ¢l / It amplifies the voltage.

B. ‘v’[ﬁw_c’ wgﬁqﬁ%wﬁﬁmél / The circuit acts as an open circuit.
C. ‘v’[ﬁw_c’ ﬂﬁ%ﬁmwm%l / The circuit acts as a short circuit.

D. I8 DC &I AC H uikafcdd @1 81 / It converts DC to AC.

9. TP did & dR &1 UfeRIY R g1 YA Hig-JaRHd & ard, dfes SR dars ardt IR T dR
Wﬁ@@@ﬁ%l Ql?s{tlﬁlﬁ%f 8, /Resistance of a copper wire is R. Four such wires with
the same cross-sectional area, but twice the length is connected in parallel. The net

o

resistance is:

AR B.R/2
C.R/4 D.R/8
10. P S| IHTS YA X' 81/ The Sl unit of is Siemen metre™.
A. dIclH / conductance B. UfcRIe/ahdr / resistivity
C. dIcfahdl / conductivity D. UfaRIY / resistance
11. A8 4RI T W HUMHD glat g1 / Load current is always negative in:
A. T8 $ 90 / Type E Chopper B. 13U H AWR / Type C Chopper
C.TRUH AR / Type B Chopper D. CIgU T HIUR / Type A Chopper

12. Th GRATY RUGeR & Rodae % 1 81 g1 / Reflectors of a nuclear reactor are made
up of:
A. EId / Steel B. SRferaH / Beryllium
C. &ddl digT / Cast iron D. §R19 / Boron
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13. W—@Tﬁﬂiﬁ@\—ﬂﬂgﬁ:{ﬁ WW%@W / In a four-stroke cycle diesel engine,
during suction stroke:
A. '&F?H GﬁTE{aTWﬁ[%IUT GTGT@'?H%ITITGTHT%/ Mixture of fuel and air is sucked in
B. $ad gaT e Wil et 3 / Only air is sucked in
C. WEC‘EHWGH?‘IT%/ Only fuel is sucked in
D. '{:Iﬁﬁaﬂg:lfﬁ/ None of these

14. ZAfagdhd Son-anT & FyfeRad & ¥ forg dd &1 fa=awr i & a| &1 SuaiT axd
e} fdaT ST qhdT 82 / Which of the following elements of electrical engineering CANNOT
be analyzed using Ohm's law?

A. HORYER / Capacitors B. E'T':T:Eﬁ/ Inductors
C. TifSRex / Transistors D. UfaRIY / Resistance

15. &néﬁaﬁwaﬁm%%mmw%? / What is zero for a charged spherical shell?
A. TR W%Wﬁ?{{ﬁ &HdT / Electrical potential outside the spherical shell.
B. MATHR W & Wﬁ?ﬁﬂ &HdT / Electrical potential inside the spherical shell.
C. WW%WW &7 / Electrical field outside the spherical shell.
D. TATHR 3TaRUT o 3{aR fdggd & / Electrical field inside the spherical shell.
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Rough Work
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